9 Copy the sentences, replacing the number words with numerals,

a) Approximately two thousand two hundred people i =
visited the museum on its opening day. '

T
b) The population of Inverness is approximately fifty-one | 2
thousand people. 2200
€) The coastline of Egypt is approximately two thousand 2450
four hundred and fifty kilometres in length.
d) Approximately two-hundred and forty-five thousand oo 8
people live in Bergen. 245000
e) One of Jordan's highest mountain is Jabal Rami. ILis r |
one thousand seven hundred and thirty-four metres high. 7

9 Write the number shown on each abacus.
a) ! |! b) l ‘ ‘ | €) i | ‘
d) ! l e) ] E | I | f) ‘ ! "
g}lg H mH’H )H Ii

Which different numbers can you | |

make on this abacus with five beads?
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